2’ 10 BALL 9.5° STEM STEEL

3 HURRICANE ROLLER W/ 7/16’
. e RETAINER FOR NON-THREADED
12 GA. GALV. COMMERCIAL TOP o (B SHAFTS
ROLLER BRACKET ATTACHED l; -
W/(4> 1/4' x 3/4* HEX HEAD 1% 55‘ 18GA. R-TRUSS
SCREWS PER BRACKET ATTACHED W/ (@
oo oo 7 1/4" x 3/4" HEX
7 HEAD SCREWS AT
> 55" 18GA. STRUT ATTACHED CENTER STILE
W/ (5) 1/4% x 3/4
(e o HEX HEAD SCREWS AT

TYPICAL TOP FIXTURES

EACH END STILE

N.T.S.

{:£>

TYPICAL CENTER HINGE

14GA. CENTER HINGE
ATTACHED W/ (4>
174" x 3/4*

HEX HEAD SCREWS

S 1/2° X 18 GA.

(3" R-TRUSS)ATTACHED
WITH (4> 1/4* x 3/4"
HEX HEAD SCREWS AT
END STILE

14GA. #3 ROLLER CARRIER

ATTACHED TO R-TRUSS W/
(3 174" x 3/4* HEX HEA
SCREWS PER CARRIER

2’ 10 BALL STEEL
HURRICANE ROLLER W/

7/16* RETAINER FOR

NON-THREADED SHAFTS

COMMERCIAL 1/2° SHOOT
BOLT LOCK ATTACHED
TO END STILE W/ <4
174" X 1 HEX HEAD
LAG SCREWS. (8
PLACES>

12 GA. END HINGE ATTACHED
W/ @) 1/4" x 3/4"
HEX HEAD SCREWS

14GA. ROLLER CARRIER
ATTACHED TO END
TILE W/ (4) 1/4" x
3/4" HEX HEAD
SCREWS PER CARRIER

COMMERCIAL 1/2° SHOOT
BOLT LOCK ATTACHED
TO END STILE W/ (4>
174" X 17 HEX HEAD

N.T.S.

p s s — A

LAG SCREWS. (8
PLACES>

@)

(KX

[$]

[$]

3%

3%

l =
327 MAX. e —

5 & s TYPICAL END HINGE ("
3 3 e N.T.S.

SECTION 7

HEIGHT = = = = = = >
28" MIN . . . . . . . N
SECTION : 1 3 4
HEIGHT X X X X X

5.5’ 18GA. R-TRUSS

Z #1 14 GA. ROLLER CARRIER 3/4* HEX HEAD SCREWS

ATTACHED W/(3)> 1/4* X 3/4* AT END STILE

HEX HEAD SCREWS AT EACH

=

s [ rer—p|| (M

=

s

b
b

DOUBLE END STILE A

[H

ON BOTTOM SECTION [N\

=
4
H

ry ry \ Y

EMBOSSMENTS
NOT SHOWN
FOR CLARITY

o T—

2’ 10 BALL STEEL HEAD SCREWS
HURRICANE ROLLER
W/9.3" STEM AND (1)

7/16" BOLT RETAINER

W Com—
o o

USED FOR NON

@ i i i A : 3 THREADED SHAFTS ON SECTION A—A (SIDE_VIEW)
H H H H H BOTTOM SECTION NETS
)
TYPICAL BOTTOM BRACKET 4
== 4 NTS.
; 1 (I
§ 3 - J
I’ T’ AN L /A\ R G E
SEE TABLE 2 REV | DESCRPTION OF REVISIONS DAE  |BY
FocaTiNS T 5 3 3 3 3 M | S S | L E A | UPDATED WIATS AND ADDED ASCE MPH DETAL | 12/13/11 | RIR
24 g’ 23 23 23 7 a3 7 VENTS PROVIDE 70 sq In.
62 sq. In.FOR OPTIONAL MAX SIZE ~§\\\\\\\
16’-0" MAX | VENT) OF UNDBSTRUCTED | M P A C T 16’ x 8 - EOF T \\
MR S REOETEN,
DESIGN LOADS N /A |
INSIDE _ELEVATION R E S | S TA N C E +43.4 PSF ,; ] ¢ J‘* 'l
N.T.S. —49.3 PSF / )
, .................
SHELI\/IERDINE’
TWO @ ROWS OF THREE 3 AT R 7
VENTS EQUALS 15 SQ. INCHES 2
wOOD BLOCK BEHIND EACH OUTER END STILE <2 PER SECTION '( —9}) 85 82903/ Qg/ 2012
3 3/4" MIN. 1-1/2° X 2-5/8° X 31-1/2* (32* SECTIONS) 2 X 6 SYP OR SPF LARGE MISSILE | 0,<~'"-</CENS€Q--" &2
__| SIDEROOM I‘_ -1/2" X 2-5/8* X 27-1/2* (28’ SECTIONS) (NO. 2 OR BETTER) IMPACT t teiereees N
(7> 20 GA CENTER STILES RESISTANCE W S(ONA\-F; ~
OPTIONAL STOP MOLDING ATTACHED WITH (2 CLINCHED JOINTS 20 GA. GALV. STEEL END AN
W/ FLEXIBLE SEAL: AT THE TOP AND BOTTOM RAIL STILE ATTACHED WITH (11
AND ADHESIVE TO INTERIOR FACE LINCHED JOINTS TO DOORS N.T.S.

(SUPPLIED BY INSTALLER>

12 GA JAMB BRACKET

SKIN AND <(2> AT THE TOP

ATTACHED TO JAMB W/<D

5/16" X 1-5/8° LAG BOLT
AND ATTACHED TO TRACK W/
(1> 174 X 5/8* SPICE BOLT

5 1/2H X 18 GA.
(5 R-TRUSS>

/ #3 14GA. ROLLER CARRIER ATTACHED TO R-TRUSS

W/ (3> 174" x 3/4" HEX HEAD SCREWS

TRACK MOUNTING DETAIL
N.T.S.

AND BOTTOM RAIL

OPTIONAL VENT DETAI@

THE METHOD OF TESTING WAS IN SUBSTANTIAL
CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM E330,
AND TAS 201, 202, AND 203. THE PRESSURES SHOWN ON THE

DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH
THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN THE
END ZONE, ROOF AT ANY SLOPE):
WIND SPEED (MPH) 169 154 146 139 134
EXPOSURE LEVEL B C C D D
MEAN ROOF HEIGHT 30’ 15’ 25’ 15’ 25’

2" GALV. STEEL TRACK
TRACK THICKNESS .083”

20 GA. GALV. STEEL UNIVERSAL
DOUBLE END STILE ATTACHED
WITH (2> RIVETS OR CLINCHED
JOINTS TO DOORS SKIN AT TOP
AND BOTTOM

ATTACHED W/(4) 1/4" X

BOTTOM BRACKET 13 GA.
(MIN> THICK ATTACHED
W/¢3> 174" X 3/4" HEX

TYPICAL TOP A

SECTIIIIN\

24 GA. <.022" MIN)

PREPAINTED STEEL\

TYPICAL
INTERMEDIATE
SECTION

TYPICAL BOTTOM

SECTION \

o]
-
- (@) 35" X 18 GA. R-TRUSS PER
SECTION EACH ATTACHED W/(2)
1/4* X 3/4’ HEX HEAD SCREWS
AT EACH CENTER STILE AND <4)
AT EACH END STILE

pI N

2

12 GA. (MIN) GALV. COMMERCIAL
TOP ROLLER BRACKET ATTACHED
WITH <4) 1/4" x 3/4" HEX HEAD
UNIV. SCREWS PER BRACKET

ADJUSTABLE SLIDE BRACKET IS
ASSEMBLED WITH (2> 5/16" x 3/4]
BOLT & NUT PER BRACKET.

s

“ 10 BALL STEEL 9.5’ LONG STEM
HURRICANE ROLLER W/ RETAINER
USED FOR NON THREADED SHAFTS

COMMERCIAL sSHOOT
BOLT LOCK ATTACHED
TO END STILE W/ (4
174 X 1" HEX HEAD
LAG SCREWS

/

BOTTOM BRACKET

13 GA <MINJATTACHED
W/(3) 174" x 3/4"
HEX HEAD SCREWS

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

arr,

MODEL

#0500 CLASSICA
1000 & 2000

SIZE| DRAWN BY  BHG

DATE  10/13/10 DRAWING NUMBER

B | ouecken By BHe

IRC-5316-169-26-

DATE  10/13/10

ENGINEER:  THOMAS L. SHEI

IMERDINE P.E. LIC. No. 0048579 SHEET 1 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


SPECIFICATIONS AND NOTES

1.

ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL
TRACK,FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR.

EACH VERTICAL JAMB RECEIVES MAXIMUM DESIGN LOADS OF: +347.2 LBS/FT
& -394.4 LBS/FT
d
DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED AND INSTALLED - g i\
WITH STANDARDS AS SET FORTH BY DASMA, - yam
DOOR SECTIONS SHALL BE 24 GA. (0216) MIN, EXTERIOR SKIN ROLLED
FORMED, W/ BAKED ON POLYESTER FINISH 1 Il
g L X )
DOORS UP TO 80 HIGH CONSIST OF ¢3) SECTIONS AS SHOWN, USE (2) 55 ﬁ .
R-TRUSSES PER SECTION
* e
SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A REGISTERED -
PROFESSIONAL ENGINEER FOR WIND LOADS INDICATED ON THIS DRAWING IN
ADDITION TO OTHER LOADINGS. —
—
N2
INTERIOR OF GARAGE
—=| MAX. WIDTH 16'0"  |=—o @ o
i
SHOOT BOLT ENGAGES TRACK AT 4 4 ajl |
LOCATIONS PER SIDE. E
pesieN Loans [ [T TP TTT] BOLTS MUST BE ENGAGED DURING HIGH .9
+347.2 LBS/FT VIND EVENTS.

—394.4 LBS/FT  SEE NOTE 2

WOOD JAMB ATTACHMENT TO STRUCTURE

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16” X 3” LAG SCREWS STARTING 6” FROM ENDS THEN 14” 0.C. (1 1/2” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE

HILTI KWIK BOLT 3/8” X 4” STARTING 6” FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8” X 2—-3/4” STARTING 6” FROM ENDS THEN 12" 0.C. (1 1/4” EMBEDMENT)
ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4” STARTING 6” FROM ENDS THEN 24” 0.C. (2 1/2” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO HOLLOW C—90 BLOCK
SIMPSON 1/4” X 3” TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS (3” APART)

AT 8” 0.C. (1 1/2" EMBEDMENT)

HILTI 1/4” X 2-3/4" KWIK—CON I+ SCREWS STARTING 6” FROM ENDS, USE PAIRS OF FASTENERS (3" APART)
AT 8” 0.C. (1 1/4” EMBEDMENT)

2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—90 BLOCK (2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6" FROM ENDS THEN 14" 0.C. (1 1/4" EMBEDMENT)
(OR, USE FASTENERS FOR HOLLOW C—90 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

\ \ \ \

WOOD CONCRETE HOLLOW BLOCK GROUTED BLOCK
'2 STRUCTURE STRUCTURE STRUCTURE STRUCTURE
: | ' || |
a
M
@ I \ i \ \ 5 \
L \
- L1 L1 | - L1
1/2” MIN 2-3/4" MIN 1-1/2" MIN 47
2X6 JAMB — —
TYP- 3' MIN

DOOR HEIGHT

VERTICAL UFT

13 GA. FLAG BRACKET ATTACHED TO wOO
JAMB/ (3> 3/16 DIA. X 1-5/8" LAG BOLTS AND

TO TRACK W/ (4> 1/4°-
SPLICE BOLTS AND NUTS

20 x 5/8" TRACK

(SPLICE)

THROUGH

STANDARD TRACK CONFIGURATION FOR 7’

SEE (TABLE 1> FOR
JAMB BRACKET SPACING

SPLICE TRACKS AT THIS LOCATION
W/ (4> 1/4"-20 TRACK SPLICE

—J~——BOLTS & NUTS SECURE TO JAMB

WITH (3> 5/16 DIA. X 1-5/8 LAG
BOLTS

(1> 5/16” DIA. x 1-5/8”
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4’-20 x 5/8”
TRACK SPLICE BOLT & NUT

N.T.S.

HIGH LIFT
STANDARD LIFT
— i

1L

AVAILABLE TRACK CONFIGURATIONS

N.T.S.

LOW HEADROOM

AND 8 TALL DOORS
REV | DESCRIPTION OF REVSIONS DATE | BY
A | UPDATED WATS AND ADDED ASCE MPH DETAL | 12/13/11 | RIR

MAX SIZE

16’ x 8 ~SSTIN\N

<~ ¢ OF

DESIGN LOADS .\y‘e T5*4
+43.4 PSF " Y
~49.3 PSF

LARGE MISSILE
RESISTANCE

IMPACT

HOI\/IAS L. SHELMERDINE /

TR ey

! g, 8582 903/@51,’/2012
W SfIONALE“ =

AR

arr,

165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #500 CLASSICA

1000 & 2000
SZE[ DRAWNBY  BHG| DATE 10/13/10 DRAMNG NUWBER
B | cEckm B BH6| DATE 10/13/10 IRC-5316-169-26-1

ENGINEER:  THOMAS L. SHELMERDINE P.E. LIC. No. 0048579 SHEET 2 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


TABLE 1 TABLE 2

Door TRACK ATTACHMENT (in) | SPLICE S SHOOT BOLT
Height [A[B|C|D|E|F]G|H]| S |493; ATTACHMENT (in)
770 | 3|14|27|38|46|56|64 76 MW T X T Y [ 2
80 | 3|14|27|38|46|56|68]| 78| 88 70 | 21 |405] 48 | 675
ALL TRACK ATTACHMENT SPACING +/— 1/2" ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY 8l 0 25 445 58 765
TABLE 3
Section Stile Locations (Measured From Left Edge)

Width | Width | Height(s) | 1st 2nd 3rd 4th 5th 6th 7th
(ft) (in) (in) (in) (in) (in) (in) (in) (in) (in)

9'-2" 110 18&21 28.063 | 54.938 | 81.813
9'-4" 112 18&21 28.563 [ 55.938 | 83.313
9'-6" 114 188&21 29.063 | 56.938 | 84.813
9'-8" 116 18&21 29.563 [ 57.938 | 86.313

9'-10" 118 18&21 30.063 | 58.938 | 87.813
10'-0" 120 18&21 30.563 | 59.938 [ 89.313
10'-2" 122 18&21 31.063 | 60.938 | 90.813
10'-4" 124 18&21 31.563 | 61.938 | 92.313
10'-6" 126 18&21 32.063 | 62.938 | 93.813
10'-8" 128 18&21 32.563 | 63.938 [ 95.313
10'-10" 130 18&21 33.063 | 64.938 | 96.813
11'-0" 132 18&21 33.563 | 65.938 | 98.313
11'-2" 134 18&21 34.063 | 66.938 | 99.813
12'-0" 144 18&21 24.563 | 48.251 | 71.939 | 95.627 | 119.315
12'-2" 146 18&21 25.063 [ 49.001 | 72.939 | 96.877 | 120.815
12'-4" 148 18&21 25.563 | 49.751 | 73.939 | 98.127 | 122.315
12'-6" 150 18&21 26.063 | 50.501 | 74.939 | 99.377 | 123.815
12'-8" 152 18&21 26.563 | 51.251 | 75.939 | 100.627 | 125.315
12'-10" 154 18&21 27.063 | 52.001 | 76.939 | 101.877 | 126.815
13'-0" 156 18&21 27.563 | 52.751 | 77.939 | 103.127 | 128.315
13'-2" 158 18&21 28.063 [ 53.501 | 78.939 | 104.377 | 129.815
13'-4" 160 18&21 28.563 [ 54.251 | 79.939 | 105.627 | 131.315
13'-6" 162 18&21 29.063 [ 55.001 | 80.939 | 106.877 | 132.815
13'-8" 164 18&21 29.563 [ 55.751 | 81.939 | 108.127 | 134.315
13'-10" 166 18&21 30.063 | 56.501 | 82.939 | 109.377 | 135.815
14'-0" 168 18&21 30.563 [ 57.251 | 83.939 | 110.627 | 137.315
14'-2" 170 18&21 31.063 | 58.001 | 84.939 | 111.877| 138.815
14'-4" 172 18&21 31.563 [ 58.751 | 85.939 | 113.127| 140.315
14'-6" 174 18&21 32.063 | 59.501 | 86.939 | 114.377| 141.815
14'-8" 176 18&21 32.563 [ 60.251 | 87.939 | 115.627 | 143.315
14'-10" 178 18&21 33.063 | 61.001 | 88.939 | 116.877 | 144.815
15'-0" 180 18&21 33.563 [ 61.751 | 89.939 | 118.127| 146.315
15'-2" 182 18&21 34.063 | 62.501 | 90.939 | 119.377| 147.815
15'-4" 184 18&21 34.563 | 63.251 | 91.939 | 120.627 | 149.315
15'-6" 186 18&21 24.563 | 47.355 | 70.147 | 92.939 [115.731] 138.523 | 161.315
15'-8" 188 18&21 24.963 | 47.955 | 70.947 | 93.939 | 116.931] 139.923 | 162.915
15'-10" 190 188&21 25.363 | 48.555 | 71.747 | 94.939 | 118.131[ 141.323 | 164.515
16'-0" 192 18&21 24.563 | 48.355 | 72.147 | 95.939 | 119.731] 143.523 | 167.315

REV | DESCRIPTION OF REVISIONS DA | BY
A | UPDATED T0 FBC 2010 12/13/1 | RR
MAX DIZk ~SNNay
X -~
~<EOF Ta M
DESIGN LOADS = v‘e TE"’.q \\
+43.4 PSF NS o)
—49.3 PSF 7 Af .,
/
HOIVIAS L. SHELIVIERDINE’
LARGE MISSILE 4 O 8582 903/499//2012
IMPACT W [N -(/CENSEQ \\Q, Z
RESISTANCE W &g o @)
W IONALEN 2=
A T g

arr,

®
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105 WWW.AMARR.COM

MODEL #500 CLASSICA
1000 & 2000

SZE| DRAWN BY  BHG| DATE 10/13/10 DRAWING NUMBER
B | CHECKED BY BHG| DATE 10/13/10 IRC-5316-169-26-

ENGINEER:  THOMAS L. SHELMERDINE P.E. LIC. No. 0048579 SHEET 3 OF 3



Tom
TX

Tom
TLS

Tom
Reviewed


	5316-169-26-I TX UPDATED 2 -23-12
	p2
	p3

